
Chapter 7 Revenue Recognition
	LEARNING OBJECTIVES

1.
Define the meaning of revenue.

2.
Determine the measurement of revenue.

3.
Discuss the revenue recognition criteria for sale of goods.

4.
Explain the various types of service transactions and their criteria for revenue recognition.

5.
Discuss the revenue recognition criteria for interest, royalties and dividends.

6.
Describe the disclosure requirements under IAS 18.
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1.
Introduction
1.1
Accruals accounting is based on the matching of costs with the revenue they generate. It is crucially important under this convention that we can establish the point at which revenue may be recognised so that the correct treatment can be applied to the related costs. For example, the costs of producing an item of finished goods should be carried as an asset in the statement of financial position until such time as it is sold; they should then be written off as a charge to the trading account.
	1.2
	Income, Revenue and Gain

	
	(a)
Income is increases in economic benefits during the accounting period in the form of inflows or enhancements of assets or decreases of liabilities that result in increases in equity, other than those relating to contributions from equity participants.
(b)
Revenue is defined as the gross inflow of economic benefits during the period arising in the course of the ordinary activities of an enterprise when those inflows result in increases in equity, other than increases relating to contributions from equity participants.
(c)
Gains represent other items that meet the definition of income. Gains represent increases in economic benefits and as such are no different in nature from revenue. However, they are often reported net of related expenses, e.g. net exchange gains, gain on disposal of non-current assets. They also include unrealized gains, for example, arising from the revaluation of investment in securities.


1.3
This Standard covers the following areas:

(a)
sale of goods

(b)
rendering of services

(c)
interest, royalties and dividends
2.
Measurement of Revenue
	2.1
	Measurement of Revenue

	
	(a)
Revenue should be measured at fair value of the consideration received or receivable.

(b)
Fair value (公允價值) is the price that would be received to sell an asset or paid to transfer a liability, in an orderly transaction between market participants at the measurement date. (IFRS 13)


2.2
Based on the entity concept, revenue includes only the gross inflows of economic benefits received and receivable by the enterprise on its own account.
2.3
Amounts collected on behalf of third parties such as sales taxes are not counted. Similarly, in an agency relationship, any amounts collected by an enterprise on behalf of the principal are also not accounted for. Revenue is reduced by trade discounts and volume rebates but not reduced by subsequent bad debts and sales returns.

2.4
Deferred payment of revenue

2.4.1
When the inflow of cash or cash equivalents is deferred, the fair value of the consideration will be less than the nominal amount of cash received or receivable. This happens when an enterprise provides interest free credit to the buyer or accepts a note receivable which is below the market interest rate. Such an arrangement in fact constitutes a financing transaction. The fair value of the consideration has to be determined by discounting all future receipts at an imputed interest rate. The difference between the fair value and the nominal amount of the consideration is recognized as interest revenue.

	2.4.2
	Exercise 1

	
	ABC Ltd bought a machine from XYZ Ltd at $400,000 which was a cash price. XYZ Ltd allowed the payments to be made by four equal instalments. The first instalments was made at the date of purchase and the remaining three instalments were made annually at the same date. XYZ Ltd did not charge ABC Ltd any interest for the deferred payment. The borrowing rate at that time was 10%.

Required:

Compute the present value of the consideration and the interest income.


	Solution:




2.5
Exchange of assets

2.5.1
The revised IAS 16 specifies that exchange of items of property, plant and equipment, regardless of whether the assets are similar, are measured at fair value of the goods or services received, adjusted by the amount of any cash or cash equivalents transferred.
	2.5.2
	Example 1

	
	Free Construction Ltd contracted with Printing Ltd where it will supply a fixed quantity of wall paper to Printing Ltd and in return, Printing Ltd will deliver a certain amount of ink as consideration. Free Construction Ltd should record revenue for the fair value of the ink received.


3.
Sale of Goods
	3.1
	Recognition of Sale of Goods

	
	Revenue from the sale of goods should be recognized when all the following conditions have been satisfied:

(i)
the enterprise has transferred to the buyer the significant risks and rewards of ownership of the goods;

(ii)
the enterprise retains neither continuing managerial involvement to the degree usually associated with ownership nor effective control over the goods sold;

(iii)
the amount of revenue can be measured reliably;

(iv)
it is probably that the economic benefits associated with the transaction will flow to the enterprise; and

(v)
the costs incurred or to be incurred in respect of the transaction can be measured reliably.


3.2
To assist with the decision of revenue recognition, the Standard provides an appendix with various examples:
	Transactions
	Critical Event

	1.
“Bill and hold” sales – Delivery is delayed, but the buyer takes title and accepts billing.
	Revenue is recognized when the buyer takes title. Revenue is not recognized when there is simply an intention to acquire or manufacture the goods in time for delivery.

	2.
Goods shipped subject to conditions –
	

	a.
Installation and inspection.
	Revenue is normally recognized when the buyer accepts delivery, and installation and inspection are complete.

	b.
On approval when the buyer has negotiated a limited right of return.
	If there is uncertainty about the possibility of return, revenue is recognized when the shipment has been formally accepted by the buyer or the goods have been delivered and the time period for rejection has elapsed.

	c.
Consignment sales under which the recipient (buyer) undertakes to sell the goods on behalf of the shipper (seller).
	Revenue is recognized by the shipper when the goods are sold by the recipient to a third party.

	d.
Cash on delivery sales.
	Revenue is recognized when delivery is made and cash is received by the seller or its agent

	3.
Lay away sales under which the goods are delivered only when the buyer makes the final payment in a series of instalments.
	Revenue is recognized when the goods are delivered

	4.
Orders when payment is received in advance of delivery for goods not presently held in stocks.
	Revenue is recognized when the goods are delivered.

	5.
Sales and repurchase agreements
	In substance, the seller has transferred the risks and rewards of ownership to the buyer and hence revenue is recognized.

	6.
Sales to intermediate parties, e.g. distributors, dealers, etc. for resale.
	Revenue is recognized when the risks and rewards of ownership have passed.

	7.
Subscriptions to publications and similar items.
	Revenue is recognized when the items involved are despacted.

	8.
Installment sales, under which the consideration is receivable in installments.
	Revenue attributable to the sales price, exclusive of interest, is recognized at the date of sale.

	9.
Property of sales.
	Revenue is normally recognized when legal title passes to the buyer. If the seller is obliged to perform any significant acts after the transfer of the equitable and/or legal title, revenue is recognized as the acts are performed.


	Question 1

Burley, a public limited company, operates in the energy industry. It has entered into the arrangement with other entities as follows:
Burley and Slite, a public limited company, jointly control an oilfield. Burley has a 60% interest and Slite a 40% interest and the companies are entitled to extract oil in these proportions. An agreement was signed on 1 December 2008, which ( allowed for the net cash settlement of any over/under extraction by one company. The net cash settlement would be at the market price of oil at the date of settlement. Both parties have used this method of settlement before. ( 200,000 barrels of oil were produced up to 1 October 2009 but none were produced after this up to 30 November 2009 due to production difficulties. The oil was all sold to third parties at $100 per barrel. ( Burley has extracted 10,000 barrels more than the company’s quota and Slite has under extracted by the same amount. The market price of oil at the year-end of 30 November 2009 was $105 per barrel. ( The excess oil extracted by Burley was settled on 12 December 2009 under the terms of the agreement at $95 per barrel.
( Burley had purchased oil from another supplier because of the production difficulties at $98 per barrel and has oil inventory of 5,000 barrels at the year-end, purchased from this source. Slite had no inventory of oil. Neither company had oil inventory at 1 December 2008. Selling costs are $2 per barrel.
Burley wishes to know how to account for the recognition of revenue, the excess oil extracted and the oil inventory at the year-end.
Required:

Discuss with suitable computations where necessary, how the above arrangements and events would be accounted for in the financial statements of Burley.
(10 marks)

(ACCA P2 Corporate Reporting December 2009 Q3(i))


4.
Rendering of Services
	4.1
	Recognition of Rendering of Services

	
	When the outcome of a transaction involving the rendering of services can be measured reliably, revenue associated with the transaction should be recognized by reference to the stage of completion of the transaction at the statement of financial position. The outcome of a transaction can be estimated reliably when all the following conditions are satisfied:

(i)
the amount of revenue can be measure reliably;

(ii)
it is probable that the economic benefits associated with the transaction will flow to the enterprise;

(iii)
the stage of completion of the transaction at the statement of financial position date can be measured reliably; and

(iv)
the costs incurred for the transaction and the costs to complete the transaction can be measured reliably.


4.2
When the outcome of the transaction involving the rendering of services cannot be estimated reliably, revenue should be recognized only to the extent of the expenses recognized that are recoverable.

	4.3
	Methods of Measuring the Revenue of Rendering of Services

	
	(a)
Percentage of completion method – With service industries, revenue is recognized by reference to the stage of completion of a transaction which is often referred to as the percentage of completion method. The stage of completion of a transaction can be determined by various means depending on the nature of the transaction. These include:

(i)
surveys of work performed;

(ii)
services performed to date as a percentage of total services to be performed;

(iii)
the proportion that costs incurred to date bear to the estimated total costs of the transaction.
(b)
Straight line basis – When services are performed by an indeterminate number of acts over a specified period of time, revenue is recognized on a straight line basis over the specified period unless some other better method is available. For example, a fitness club which provides unlimited use of its facilities to its members offers a three-year membership subscription at a discount. For such membership fees, revenue should be recognized over the three year period on a straight-line basis.
(c)
Completed performance method – When a specific act is much more significant than any other acts, the recognition of revenue is postponed until the significant act is executed. For example, a moving company may pack, load, store and deliver goods to destinations designated by customers. The act of delivery, the last of a series of acts, is so significant that revenue can only be recognized when delivery is completed.


5.2 Examples from Standard
	Transactions
	Critical Event

	1.
Installation fees
	Revenue is recognized by reference to the stage of completion of the installation.

	2.
Servicing fees included in the price of the product
	The identifiable amount included in the selling price, i.e. service fees, is deferred and recognized over the period during which the service is performed.

	3.
Advertising commissions
	Media commissions are recognized when the related advertisement or commercial appears before the public.

	4.
Insurance agency commissions
	Revenue is recognized on the renewal date of the policy provided that the agent will not be required to perform further services.

	5.
Financial services fees
	Recognition of revenue for financial service fees depends on the purposes for which the fees are assessed and the basis of accounting for any associated financial instrument.

	6.
Admission fees
	Revenue from artistic performance, other special events is recognized when the event takes place.

	7.
Tuition fees
	Revenue is recognized over the period of instruction.

	8.
Initiation, entrance and membership fees
	If fees permit only membership, the fee is membership fees. Recognised as revenue when no significant uncertainty as to their collectibility exists. If fees include other services or facilities provided, revenue is recognized on a basis reflecting the timing, nature and value of the benefits provided.

	9.
Franchise fees
	Revenue is recognized on a basis that reflects the purpose for which the fees are charged.

	10.
Fees from the development of customized software
	Revenue is recognized by reference to the stage of completion.


	Question 2
Alexandra, a public limited company, designs and manages business solutions and IT infrastructures.
Alexandra enters into contracts with both customers and suppliers. The supplier solves system problems and provides new releases and updates for software. Alexandra provides maintenance services for its customers. ( In previous years, Alexandra recognised revenue and related costs on software maintenance contracts when the customer was invoiced, which was at the beginning of the contract period. Contracts typically run for two years.
During 2010, ( Alexandra had acquired Xavier Co, which recognised revenue, derived from a similar type of maintenance contract as Alexandra on a straight-line basis over the term of the contract. ( Alexandra considered both its own and the policy of Xavier Co to comply with the requirements of IAS 18 Revenue but it decided to adopt the practice of Xavier Co for itself and the group. Alexandra ( concluded that the two recognition methods did not, in substance, represent two different accounting policies and did not, therefore, consider adoption of the new practice to be a change in policy.
In the year to 30 April 2011, ( Alexandra recognised revenue (and the related costs) on a straight-line basis over the contract term, treating this as a change in an accounting estimate. As a result, revenue and cost of sales were adjusted, reducing the year’s profits by some $6 million.
Required:
Discuss how the above transactions should be dealt with in the financial statements of Alexandra for the year ended 30 April 2011.
(5 marks)


(ACCA P2 Corporate Reporting June 2011 Q3(b))


5.
Interest, royalties and dividends

	5.1
	Definitions

	
	(a)
Interest is the charge for the use of cash or cash equivalents or amounts due to the entity.

(b)
Royalties are charges for the use of non-current assets of the entity, e.g. patents, computer software and trademarks.

(c)
Dividends are distributions of profit to holders of equity investments, in proportion with their holdings, of each relevant class of capital.


	5.2
	Recognition of Interest, Royalties and Dividends

	
	(a)
Interest is recognised on a time proportion basis that takes into account the effective yield on the asset.
(b)
Royalties are recognised on an accruals basis in accordance with the substance of the relevant agreement.
(c)
Dividends are recognised when the shareholder's right to receive payment is established.


6.
Principal or Agent

6.1
Acting as principal

6.1.1
An entity is acting as a principal when it is exposed to this significant risks and rewards associated with the sale of goods or rendering of services. Features that indicate that an entity is acting as a principal include (individually or in combination):

(a)
Primary responsibility for providing goods or services to the customer or for fulfilling the order,

(b)
The entity having the inventory risk before or after the customer order, during shipping or on return,

(c)
Discretion in establishing prices (directly or indirectly), e.g. providing additional goods or service,

(d)
The entity bearing the customer’s credit risk for the amount receivable from the customer.

6.2
Acting as agent

6.2.1
An entity is acting as an agent when it is not exposed to the significant risks and rewards associated with the sale of goods or rendering of services. One feature that indicates that an entity is an agent if the amount the entity earns is predetermined, e.g. fixed fee per transaction or percentage of amount billed to the customer.
7.
Disclosure Requirements
7.1
An enterprise should disclose:

a)
the accounting policies adopted for the recognition of revenue including the methods adopted to determine the stage of completion of transactions involving the rendering of services;

(b)
the amount of each significant category of revenue recognized during the period including revenue arising from:

(i)
the sales of goods;

(ii)
the rendering of services;

(iii)
interest;

(iv)
royalties;

(v)
dividends; and

(c)
the amount of revenue arising from exchanges of goods or services in each significant category of revenue.
Additional Examination Style Questions

Question 3
IAS 18 – Revenue – was issued with a view to standardising the recognition and measurement of revenue. The principles of the standard are based around the concept of income that was developed in the IASB’s Framework for the Preparation and Presentation of Financial Statements.
Required:

(a)
Explain how the IASB’s framework defines income and how this definition compares to the definition of revenue given in IAS 18.
(4 marks)
(b)
Outline the requirements of IAS 18 regarding the recognition and measurement of revenue from:
(i) The sale of goods;

(ii) The rendering of services;

(iii) The use of entity assets.
(9 marks)
Iota prepares financial statements to 30 September each year. During the year ended 30 September 2005 Iota engaged in the following transactions:
1.
On 1 October 2004 Iota sold a plot of land to a bank for $10m. The land had a book value of $5m and a market value of $15m at the date of sale. Iota continued to develop the land and had a call option to buy the land back from the bank for $12m on 30 September 2006. The bank had a put option to sell the land to Iota for $12m on 30 September 2006.

2.
On 30 September 2005 Iota sold some products under a two year warranty scheme. The total invoiced price was $500,000. The scheme requires Iota to repair any defects found in the products for a two year period from the date of sale. The directors of Iota can reliably estimate that their warranty costs will average $50,000 each year. A reasonable profit margin on the repair of such products is 20% of the normal invoiced price of such repairs.

3.
On 1 October 2004 Iota sold some products for a total invoiced price of $600,000. The consideration was receivable from the customer on 30 September 2006. Iota normally charges a finance cost of 8% per annum on transactions for which it provides finance.

Required:

(c)
Explain how each of the transactions 1–3 should be recognised in the financial statements of Iota for the year ending 30 September 2005. You should quantify the amounts recognised and make reference to relevant provisions of IAS 18 wherever possible.
(12 marks)


(Total 25 marks)



(Adapted ACCA Dip IFR December 2005 Q4)
Question 4
(a)
Revenue is usually one of the largest numbers that appears in the financial statements of an entity. Therefore it is important to ensure that revenue is recognised and measured appropriately. IAS 18 “Revenue” was issued in order to provide standard accounting practice in this area.
Required:

(i)
Describe the meaning of revenue and the basis on which it should be measured under the principles of IAS 18;
(3 marks)

(ii)
Outline the criteria that need to be satisfied before revenue can be recognised under the principles of IAS 18. You should consider revenue from the sale of goods and from the rendering of services separately.
(5 marks)

(b)
Kappa is an entity that prepares financial statements to 31 March each year. During the year ended 31 March 2010 the following transactions occurred:
(i)
On 29 March 2010 Kappa delivered two machines to a customer. Details relating to the machines are as follows:
	Machine
	Construction cost
	Invoiced price

	
	$
	$

	A
	190,000
	250,000

	B
	200,000
	300,000


Machine A was unpacked and connected to the power supply necessary to operate the machine on 2 April 2010. As soon as this was done, the machine was able to operate immediately.
Machine B needed to be installed by an expert fitter before it was capable of operating in the intended manner. The installation process was complete, and the machine passed ready for use, on 4 April 2010.
The customer paid for both machines on 30 April 2010.

(5 marks)

(ii)
On 15 March 2010 Kappa transferred goods to a third party, Omicron, on a consignment basis. Omicron undertook to sell the goods on behalf of Kappa and remit the proceeds, less a commission of 10%, when the final purchaser paid Omicron for them. The invoiced value of these goods (the price payable by the final purchaser was $400,000). The goods cost Kappa $320,000 to manufacture. By 31 March 2010 Omicron had sold goods at an invoiced price of $240,000 and received payments of $160,000. No payment had been made to Kappa by Omicron by 31 March 2010. Since 31 March 2010 Omicron has sold the remaining goods, received all the proceeds, and remitted $360,000 ($400,000 x 90%) to Kappa.
(5 marks)
(iii)
On 1 April 2009 Kappa sold a property it owned to a bank for $3,000,000. The carrying value of the property at 1 April 2009 was $2,000,000, of which $1,200,000 was depreciable. The remaining useful economic life of the depreciable element was 30 years from 1 April 2009. Kappa continued to occupy the property and be responsible for its security and maintenance. The market value of the property on 1 April 2009 was $5,000,000 and it is considered unlikely that this will fall significantly in the foreseeable future. Kappa measures all its property, plant and equipment under the cost model.
The terms of the sale allowed Kappa the option to repurchase the property as follows:
– On 31 March 2010 for $3,300,000.

– On 31 March 2011 for $3,630,000.

– On 31 March 2012 for $3,993,000.

(7 marks)

Required:

For each of the above transactions:
– Explain and compute, by applying the principles of IAS 18, how much revenue should be recognised in the statement of comprehensive income for the year ended 31 March 2010.

– Identify and compute any other amounts relating to each transaction that will be included in the statement of comprehensive income for the year ended 31 March 2010 and the statement of financial position at 31 March 2010.


(Total 25 marks)


(Adapted ACCA Dip IFR June 2010 Q4)
Question 5
Partway is in the process of preparing its financial statements for the year ended 31 October 2006. The company’s main activity is in the travel industry mainly selling package holidays (flights and accommodation) to the general public through the Internet and retail travel agencies.
The terms under which Partway sells its holidays are that a 10% deposit is required on booking and the balance of the holiday must be paid six weeks before the travel date. In previous years Partway has recognised revenue (and profit) from the sale of its holidays at the date the holiday is actually taken. From the beginning of November 2005, Partway has made it a condition of booking that all customers must have holiday cancellation insurance and as a result it is unlikely that the outstanding balance of any holidays will be unpaid due to cancellation. In preparing its financial statements to 31 October 2006, the directors are proposing to change to recognizing revenue (and related estimated costs) at the date when a booking is made. The directors also feel that this change will help to negate the adverse effect of comparison with last year’s results (year ended 31 October 2005) which were better than the current year’s.
Required:
Comment on whether Partway’s proposal to change the timing of its recognition of its revenue is acceptable and whether this would be a change of accounting policy.

(6 marks)

(ACCA 2.5 Financial Reporting December 2006 Q5(b)(ii)
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